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Bernoulliho lemniskáta
(x2 + y2)2 = 2a2(x2 − y2)
{

x = a
√
2 cos 2t cos t,

y = a
√
2 cos 2t sin t,

t ∈
〈

−π

4
, π

4

〉

∪
〈
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4
, 5π
4

〉
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kardioida
(y2 + x2 − a2)2 = 4a2(y2 + (x− a)2)
{

x = a(2 cos t− cos 2t),
y = a(2 sin t− sin 2t), t ∈ 〈0, 2π〉

x

y

cykloida
{

x = a(t− sin t),
y = a(1− cos t), t ∈ R
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klotoida
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x =

∫

t

0

cos
as2

2
ds,

y =

∫

t

0

sin
as2

2
ds,

t ∈ R
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třílistá růže
r = a sin 3ϕ
{

x = a(4 cos2 t− 1) sin t cos t,
y = a(4 cos2 t− 1) sin2 t,

t ∈ 〈0, 2π〉

x

y

čtyřlístek
r = a| sin 2ϕ|
{

x = a cos t| sin 2t|,
y = a sin t| sin 2t|, t ∈ 〈0, 2π〉

x

y


